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Question Number : 1 Question Id : 55762553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is NOT related to web accessing.

Options:
; % ISDN

> % MODEM
s % DSL

4 +« Hard Disk

Question Number : 1 Question Id : 55762553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % FBTHATA (ISDN)

, « #ASA (MODEM)
. » Seve (DSL)

, v 8 3% (Hard Disk)

Question Number : 2 Question Id : 55762554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is used to identify web pages uniquely?
Options:

1 % IP address

> % Domain
5 o URL

4 % File name

Question Number : 2 Question Id : 55762554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 3 Question Id : 55762555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An electronic page in a presentation is called:

Options:
1 « Slide

> # e-slide

5 ® ©-page

4 % Page

Question Number : 3 Question Id : 55762555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 4 Question Id : 55762556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

performs addition. subtraction, division, multiplication and logic operations.
Options:
, = Registers



- % Control Unit
3. ¢ ALU

4 % Programmed unit

Question Number : 4 Question Id : 55762556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 55762557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an external DOS command?

Options:
, = Copy

- « Format
3 # Del

4 ® Dir

Question Number : 5 Question Id : 55762557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Copy

> « Format



= ® Del

4 ® Dir

Question Number : 6 Question Id : 55762558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What do you mean by baud rate?
Options:

, % The difference between the lowest and the highest frequency transmitted

- % lransmission capacity

-  Iransmission speed of a communication channel

4, % Frequency modulation

Question Number : 6 Question Id : 55762558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 55762559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Press key to disable extended selection mode in MS-Word.

Options:
1 ® F8

> % Del

= o ESC



4 % Enter

Question Number : 7 Question Id : 55762559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® FS

o % Del
2 « Esc

4 % Enter

Question Number : 8 Question Id : 55762560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What are the keystrokes Ctrl + I used for?

Options:
1 % Increase the font size.

> % Insert a line break.
= % Insert a column break.

4 « Make the selected text italic.

Question Number : 8 Question Id : 55762560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 55762561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to file management, folders let you:

Options:

| « organize the files on a disk.

- % ensure that the computer starts properly.
- % hame your files.

4 # create a file allocation table.

Question Number : 9 Question Id : 55762561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 55762562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the default width of a table when it is inserted into an MS-Word document?
Options:

1 +« Same as the width of the document.

- % Same as the width of the paragraph.

z ® 7.5 Inch

4 % 8.5Inch

Question Number : 10 Question Id : 55762562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 55762563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a financial function in MS-Excel?

Options:
; & FV()

. x NPV()

5« SUM()

. % PMI()

Question Number : 11 Question Id : 55762563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = FV( )

.« NPV( )
- SUM( )
. & PMT( )

Question Number : 12 Question Id : 55762564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In which of the following categories of transmission, a start bit and a stop bit frame a character byte?



Options:
, « Asynchronous serial

> % Synchronous serial

%z % Parallel

, = Both synchronous and parallel

Question Number : 12 Question Id : 55762564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JHNT (i) 7 Featas § ¥ Fy 4o § = e s = e e ST e = BE
AT 87

Options:
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Question Number : 13 Question Id : 55762565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which layer converts bits from the physical layer into frames?
Options:

| « Datalink layer

» » Network layer

5 % lransport layer

4 w Presentation layer

Question Number : 13 Question Id : 55762565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 14 Question Id : 55762566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT an internetworking device?
Options:

, w Dridge

- o Amplifier

5 % Gateway

4 % Hub

Question Number : 14 Question Id : 55762566 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 55762567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following i1s NOT an advantage of e-mail?
Options:

, % Saves paper and makes it easy to edit the message



> % Iransmits messages faster

-  Prevents virus attacks in your computer

4, % Enables the user to transmit a single e-mail to multiple users

Question Number : 15 Question Id : 55762567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 55762568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a unit of measurement for memory device?

Options:
| % Byte

- % Megabyte
- # Kilobyte

4  MHz

Question Number : 16 Question Id : 55762568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 55762569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first mechanical calculator was built by:

Options:
1 % Howard Aiken

> « DBlaise Pascal

- % John Mauchly

4 % Joseph Marie Jacquard

Question Number : 17 Question Id : 55762569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Options:

| » BI9S 3TSFH (Howard Aiken)

, v ST UTERA (Blaise Pascal)

. x SWs AlFer (John Mauchly)

, « A% A JF=TS (Joseph Marie Jacquard)

Question Number : 18 Question Id : 55762570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Microsoft Word. you can force a page break by:

Options:
, w Dositioning your cursor at the appropriate place and pressing the F1 key.

- « positioning your cursor at the appropriate place and pressing Ctrl + Enter.



- % using the Insert/Section Break.

4, % changing the font size of your document.

Question Number : 18 Question Id : 55762570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 55762571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Name the file that launches Microsoft Word.
Options:

1 ® Word.exe

> « Winword.exe
z % MSword.exe

4 ® Word2003.exe

Question Number : 19 Question Id : 55762571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 = Word.exe

> « Winword.exe

= # MSword.exe



4 % Word2003.exe

Question Number : 20 Question Id : 55762572 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a slide pane in a Microsoft PowerPoint window?

Options:
, = Itdisplays quick access buttons like Save. Undo and Redo.

- % Itcontains commands like New. Save & Open.

- % ltisused to minimize the program window.

4.
It is usually found on the left side of the window, which displays thumbnails of available files.

Question Number : 20 Question Id : 55762572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 21 Question Id : 55762573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A picture or image displayed in the background of the desktop is called:
Options:

1 % Icon

-  Wallpaper

5 % Property



4 ® Video

Question Number : 21 Question Id : 55762573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 55762574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a standard file format for text files?
Options:

1% JPEG (.jpg)

> % Bitmap (.bmp)

5 » word (.doc)

4 v TEXt(IXI)

Question Number : 22 Question Id : 55762574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

; » JPEG (jpg)
-, % Bitmap (.bmp)

- » Word (.doc)

4 Text (ixt)



Question Number : 23 Question Id : 55762575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A/An displays a three-dimensional surface that joins a group of data points.

Options:
1 # Column chart

> % Line chart
= « Surface chart

4 # XY (Scatter) chart

Question Number : 23 Question Id : 55762575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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. = XY (FhX) =mE

Question Number : 24 Question Id : 55762576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following technologies can & user leave a voice message Tor a receiver when the receiver is not gvailable?
Options:

1 % SMS

- % Chatting
5 % video Conferencing

4 « Voicemail

Question Number : 24 Question Id : 55762576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 » THUATH

i . e
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Question Number : 25 Question Id : 55762577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

15 atype of malware disguised as leginimate software but actually damages the executable files on the computer.
Options:
, « Trojan horse

> % Adware
5 % Spyware

4 % Worm

Question Number : 25 Question Id : 55762577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UF TN F OAFSIT § S UF S9 WEESI & F9 H O & ¢ A e # 9 FEE
9T UHFHEGEES (executable) FERE F & TEEAT 2

Options:
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Question Number : 26 Question Id : 55762578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the collection of related records called?



Options:
| = Directory

> % Database

3 « File

o,

4 % Folder

Question Number : 26 Question Id : 55762578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 55762579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is a non-impact printer?
Options:

; w Daisy-Wheel printer

> % Dot-Matrix printer

- » Chain printer

4  Laser printer

Question Number : 27 Question Id : 55762579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 28 Question Id : 55762580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following categories of device connects to a network without the use of cables?
Options:

1 % Distributed

®

> « Wireless

Centralised

L
u

Open source

Question Number : 28 Question Id : 55762580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 29 Question Id : 55762581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Access 2007, information is stored in

Options:
1 « Tables

- w Queries



o % Reports

4 % Forms

Question Number : 29 Question Id : 55762581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 55762582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hard Disk drives are considered as storage.

Options:
1 % flash

> % temporary

= % worthless

4 « mnon-volatile

Question Number : 30 Question Id : 55762582 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ge 5% grsem & TS AT AT ¢
Options:

1. % H%QT

g_ﬁm

3_5;&!'93'



,  TT-areneTSe

Question Number : 31 Question Id : 55762583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
*CREATE TABLE’ command used in SQL is considered as a:

Options:
1 + DDL command

> % DML command
= % DCL command

4 % Both DML and CML command

Question Number : 31 Question Id : 55762583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SQL & 9T & A= arelr “CREATE TABLE” &HUE &1 FaT AT gl
Options:
. « DDL ®AmUs

> % DML &AmwE

s » DCL %As

, » & DML 3T CML wamvs

Question Number : 32 Question Id : 55762584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following languages is generally used for complex scientific calculations?

Options:
1 ® BASIC
- « Fortran

- % COBOL

4 % Pascal

Question Number : 32 Question Id : 55762584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Options:

1_&ﬁ$
g\f'cmas'ﬁ

B_QW

4.%‘%

Question Number : 33 Question Id : 55762585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The physical components of a computer are called

Options:
1 « Hardware

- = Application software

- % Program

4 % System software

Question Number : 33 Question Id : 55762585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 34 Question Id : 55762586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is a Computer Terminal?

Options:



, = Adevice to give power supply to the computer.

- A device used for entering data into, or displaying or printing data from. a computer.

5 % Lhe operating system of a computer.

4, % The main processing component of a computer.

Question Number : 34 Question Id : 55762586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 55762587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What would happen if a particular text is selected and *copy’ button is clicked?

Options:

, « The text would be copied from the document and placed in the clipboard.

> # The text would be deleted from the document.

e
The text from the clipboard would be placed in the document at the place where the cursor is blinking.

, # Thetext would be duplicated in the document.

Question Number : 35 Question Id : 55762587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 55762588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following comprises information about a single “entry™ in the database table — like a person, place, event
or thing?

Options:

, w Query

-~ % Term
3 « Record

4 % Table

Question Number : 36 Question Id : 55762588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 37 Question Id : 55762589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is a saved document termed as?
Options:



1 « File
> % Word
3 % Folder

4 = Project

Question Number : 37 Question Id : 55762589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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5 % BIesT
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Question Number : 38 Question Id : 55762590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
can be used to convert bitmap image of characters into editable texts.

Options:
; « OCR

> % OMR
s % MICR

4 % OSR

Question Number : 38 Question Id : 55762590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 39 Question Id : 55762591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Keyboards having a small joystick built into them between the g and h keys are called:

Options:

, « Pointing Stick

- % Memory Stick
5 % Iracking device

4 % Touchpad

Question Number : 39 Question Id : 55762591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WHMRT TR g h I F I w o Sofer B & 3w & S 2

Options:

> » FAN FeF
o« siehT fRamgw
4 % TUS

Question Number : 40 Question Id : 55762592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following features is NOT a major advantage of using Microsoft Excel?

Options:
, » Applying functions like filtering, sorting, etc. on data.

- % Automatic calculation of simple and complex formulas.



5 » Creating different types of charts.

4 « Desktop publishing.

Question Number : 40 Question Id : 55762592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 55762593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Excel, command is used to convert a colummn of data into row.

Options:
, w Cutand Simple Paste
-  Paste Special

- » Copy and Simple Paste

4 » Cutand Copy

Question Number : 41 Question Id : 55762593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 42 Question Id : 55762594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Reduction in the size of e-data is called:
Options:

, = Data encryption

-  Data Compression
5 » Decryption

4 » Defragmentation

Question Number : 42 Question Id : 55762594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
$-22T F AT H FHT I FAT FaT AT 27

Options:

| % 32T Tlespeerd
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5 % TSfeheRre

4 = (BT

Question Number : 43 Question Id : 55762595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A technology used to transmit high-bandwidth digital data over your telephone line is known as:

Options:
, # Synchronous circuit
> % Modulation

- % Asynchronous circuit

4 « Digital Subscriber Line (DSL)



Question Number : 43 Question Id : 55762595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THIwA 7T 97 3= deiasy ETEE Er ey s & U 39O i 9 96 UF dedls o 59 &
s 7 ¢ Y 5 s B2

Options:
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Question Number : 44 Question Id : 55762596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following chart does NOT use gridlines?

Options:
1 # line chart
> % column chart

= % bar chart

T, pie chart

Question Number : 44 Question Id : 55762596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T=aa #§ @ &9 a7 =91¢ BIseisag F1 93497 J&7 Fiar 27

Options:
| % S =T
5 % WIAH =C

z % S T

4.Jq-|é‘-a1%

Question Number : 45 Question Id : 55762597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
What is the process of finding errors in software code called?

Options:
, » Exchanging

-  Debugging

- % Running

4 % Compressing

Question Number : 45 Question Id : 55762597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
mmﬁgﬁ?ﬁmﬁmﬁﬁﬁﬁﬁﬂﬁﬁwm el AT 27

Options:

1@3%

o S
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Question Number : 46 Question Id : 55762598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following command sends data to the printer for output on paper?

Options:
1 « Print

-~ % Save
=z ® Exit

4 % Paste

Question Number : 46 Question Id : 55762598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frrafof@a 7 & #ia &1 FAws TR W 3mEeye & o Bier #r e aear 22

Options:
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Question Number : 47 Question Id : 55762599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which type of Encryption Level is most secure?

Options:
| ® WEP

> % WPA
3  WPA2

4 % WEP2

Question Number : 47 Question Id : 55762599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frafafea # @ B8 9or 71 oo oa waw afoe gifee 22

Options:

.« WEP
. % WPA
- v WPA2

. % WEP2

Question Number : 48 Question Id : 557625100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of NOT allowing the authorised users to access the system is called:

Options:
1 % Process-based control

> % Job-based control



= « Role-based access control

4 % Task-based control

Question Number : 48 Question Id : 557625100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

|« TIOE-IFS Fegd

L NE-AEE Fegrol

Question Number : 49 Question Id : 557625101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A simplest monoalphabetic cipher is a‘an cipher.

Options:
1 % substitution

> o additive
- % polyalphabetic

4 % subtractive

Question Number : 49 Question Id : 557625101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 50 Question Id : 557625102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a network administrator blocks port 80, then which service is unavailable for the network users?

Options:
; % DNS

> % POP3
z ® FIP

4 « HTTP

Question Number : 50 Question Id : 557625102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = DNS
> » POP3
5 » FTP

4, v HTTP

Question Number : 51 Question Id : 557625103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Commands at the top of an application window sich as FILE, EDIT, FONT, TOOLS, etc. to operate and change things
within programs are present under

Options:
1 « Menu bar
> % Tool bar

- u User friendly

4 % Word processor



Question Number : 51 Question Id : 557625103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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3 ® LY

4 ® Eé'm

Question Number : 52 Question Id : 557625104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which one of the following slide view options display the slide on full screen and does not allow editing?

Options:
1 % Slide Sorter
> # Slide Master

5 « Slide Show

4 % Handout Master

Question Number : 52 Question Id : 557625104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 557625105 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension

READING COMPREHEMNSION

55762554
2

Online
Mandatory
1

1

5

Yes

No

1
55762554
Yes



Read the passage given below and answer the gumestions thar follow by

markimg the most approprtare option out of the four siven after each
question.

YO0 A break conld become part of office schadnles of organizanons if Tndia
Inc. accepts a suggestion by the Government.

Highlighting the benefits of voga in lowering stress. Ministry of AYUSH
has suggested corporate housas to encourage physical exercise regine.

The Ministry has requested participation of corporate world on International

Yoga Day. The government has asked business chambers and other
corporate bodies to make a 30-mimute voga break mandatory for their
employees,

“We have invited all corporate houses to participate in Yoga Day this vear
hecanse employees in the corporate sector face a lot of siress. We have
wittlen 10 corporate bodies like the Federation of Indian Chambers of
Commerce & Industry (FICCT) and Instimite of Chartered Accountants of
India for releasing a circular in corporate offices associated with them fo
include a 30-minute mandatory voga programme.” said Anil Kumar
Ganeriwala, Joint secretary, Minisoy of AYTISH.

“AYUSH Ministry is ready to provide all necessary help to the corporate
sector employees. They are always under pressure because of long working
hours. sitting postures or travelling time. They need to be rejuvenated and
voga can be the answer for them.™ he said.

In India software mdustry has become one of the fastest growing sectors
emploving lakhs of people and medical complamts are conung from these
emplovess, including depression., eve & neck pain and work related stress
dne 1o nght deadlines.

Ax per the common yoga protocol of the AYUSH ministry. medical research
has wncoverad many physical and mental benefits that yoga offers.
corroborating the experiences of millions of practitioners. A small sampling
of research shows thar yoga is beneficial m reducing depression, fangue,
anxiety disorders and swess. It helps in the management of diabetes.
respiratory diserders. hypertension and many lifestyle related disorders.

“As vouth is the future of India, they need a life without stress. Many
corporate houses have started optional yoga programumes. We suggest
making 1t mandatory for the emplovees 1o start these progranunes [or ar least
half an hour.” said Ganeriwala.

“We have also advised the corporate sector to conduct brief workshops on
voga as (his will create interest and awareness among emploveess,™ he said.



Sub questions

Question Number : 53 Question Id : 557625106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The main theme of the passage is:
Options:

, w the physical exercise regime

-  the benefits of yoga

2 % stress management

4 % the role of corporate houses in popularizing yoga

Question Number : 54 Question Id : 557625107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Anil Kumar Ganeriwala is:

Options:

, % Minister of state, AYUSH Ministry

- » General Secretary, Ministry of AYUSH

o  Joint Secretary, Ministry of AYUSH

4 % Minister with Independent charge

Question Number : 55 Question Id : 557625108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The pronoun WE refers to:

Options:
1 +« the Government of India

> % business chambers

5 % corporate houses

4 % government employees

Question Number : 56 Question Id : 557625109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Mark the option which is false.

The employees working in the private sector are very
stressed because of:

Options:
, % long working hours.

- » tight deadlines.

5 » long travelling time.

4  linancial problems.

Question Number : 57 Question Id : 557625110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the writer, Yoga:
Options:

, % should be optional.

- % isnot desirable.

- « should be mandatory.

4 % 1isanambitious enterprise.

Question Id : 557625105 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Question Label . Comprehension
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Sub questions

Question Number : 53 Question Id : 557625106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 557625107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 557625108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 557625109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 557625110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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CUANTITATIVE APTITULE

Section Id : 55762555

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 55762555
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 557625111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value that should replace the question mark (?) to solve the following equation correctly.

40% of 265 +~ 35% of 180 = 50% of ?
Options:
1« 338

5 % 84.5
s % 2535

4 % 169

Question Number : 58 Question Id : 557625111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IE AT A9 X S 92T REA (?) # TR W WA § FEatai@a guer #F F@r @ § 9T H

265 T 40% + 180 =°1 35% =7 =1 50%
Options:

, v 338
, % 845
. = 2535

4 % 169

Question Number : 59 Question Id : 557625112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following number series. one number has been included wrongly. Find out the wrong number.

484 240 120 57 26.5 11.25 3.625
Options:
1 % 240



Question Number : 59 Question Id : 557625112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A=l e gaer &, v F&T Tog aifie & & A §| 3F Teid TEAT FH 947 S|

484 240 120 57 265 11.25 3.625
Options:

| ® 240
> « 120
ST ] 5?

. 265

Question Number : 60 Question Id : 557625113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What should come in place of the question mark (?) in the following series to complete it correctly?

15 25 4065 ? 195

Options:
, % 115

o B Q0
2 % 105

i w110

Question Number : 60 Question Id : 557625113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IE AT AT F FA 9T FET (?) F TR W @A ¥ ARl g@er # TEr @9 ¥ qur X

15 25 40 B 7 185
Options:



1 % 115
- ® gD
2 % 105

4 v 110

Question Number : 61 Question Id : 557625114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Car A Takes 8 hours 1o reach its destination when travelling at a speed of 65 kmvhr, while car B3 1akas 4 hours 1o reach i1z
destination when traveling at a speed of 70km/hr. Find oot the ratio of the distances covered b car A and car B respectively

Options:
i 2T

e BT
= o 1317

4% Tl

Question Number : 61 Question Id : 557625114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
L% 11:7
> % 7:13
b 15 7
L% 711

Question Number : 62 Question Id : 557625115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Solve the following equation.

45458 —376.80 +121.45-9542=7
Options:



; % 10222
> « 103.72
3 % 91.72

4 % 9232

Question Number : 62 Question Id : 557625115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AT FHI0T F goF )

454 58 - 376.89 + 12145 -9542 = 7
Options:

. % 10222
» ¢ 103.72
3 % 91.72

4 % 92.32

Question Number : 63 Question Id : 557625116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An article was purchased for T 78,150 and then its price was marked up by 30%,. It was sold at a discount of 200 on the
marked price. What was the profit percent on the cost price?

Options:

1 ¢ 4%

o R T

L
i
L
s

i,
#
L)
=)
ey

Question Number : 63 Question Id : 557625116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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1_J4%

- ® ?%
o % 5%
4 * 3%
GEMERAL MENTAL ABILITY AND REASCRING
Section Id : 55762556
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 55762556
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 557625117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way the second term is related to the first term.

Cringe : Fear : : Yawn : ?
Options:

| ® Wworry

5 % Anger

- % Reaction

4 « Boredom

Question Number : 64 Question Id : 557625117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 65 Question Id : 557625118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Deuce : Tennis : : Googly : ?
Options:
1 % Football

> « Cricket

5 % Hockey

4 % Polo

Question Number : 65 Question Id : 557625118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 557625119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that best describes the three following terms.

Knight : Rook : Bishop
Options:
1 # These are missionaries.

> « These are chessmen.

5

These are churchmen.

ra
B

4 % These are ranks of military.
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

30 FeT &1 999 F{ F FAta@d 19 Uegl F1 Fafedd I F:IaT 2
AST | FF ; T

Options:

¥ FAd= &

4

1

5 v T AT F R B

T gredr &

ra
B

T wia & Sfvar (&) g

Question Number : 67 Question Id : 557625120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that best describes the three following terms.

Yeats : Ghalib : Kabir
Options:
. % They were given Nobel Prize.

5 of They were poets.



- % They were social reformers.

4 # They were saints.
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Question Number : 68 Question Id : 557625121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

121 212 =257
Options:
1 ® 1

| g

> R
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Question Number : 69 Question Id : 557625122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

On Childeren’s Day, sweets were to be equally distributed among 175 children in 4 school. Actually on the childrens
day. 35 children were absent and therefore each child got 4 sweers extra. Total how many sweets were available for
distribution?

Options:

1 % 2400

> % 2480
5 % 2680

4 « 2800
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Options:
. % 2400
5 % 2480
- % 2680
4 « 2800
GEMERAL AWAREMNESS
Section Id : 55762557
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 6



Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 55762557
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 557625123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
PDA stands for:
Options:

, « Personal Digital Assistant

-~ » Personal Development Agency
5 » Personal Data Authority

4 = Personal Data Array
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Question Number : 71 Question Id : 557625124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dronacharya Award recognizes outstanding achievement by Indians in the space of:

Options:
1 % Literature

~ % DPeace



-  Sports Coaching

4 % Bravery
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Question Number : 72 Question Id : 557625125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following teams won the Duleep Trophy Cricket Tournament, 2014-2015?

Options:
1 % East Zone

> « Central Zone
= % West Zone

4 % South Zone
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Question Number : 73 Question Id : 557625126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After Dinesh Trivedi’s resignation. who was appointed the Union Railway Minister in 20127

Options:
1 # Muket Rai

-~ % Prasano Dev Barua

-  Mukul Roy

, » Harihar Banerji
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Question Number : 74 Question Id : 557625127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vikram Pandit was the CEO of which of the following companies during the global financial crisis?

Options:
1 # Yes Bank
> # ICICI Bank

5 o Citigroup

4 % HSBC
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Question Number : 75 Question Id : 557625128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Tropic of Cancer is nearest to which of the following Indian cities?

Options:
1 « Aizawl

=z % Kolkata

4, » Imphal
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English Typing Test

Section Id : 55762558

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 55762558
Question Shuffling Allowed : No

Question Number : 76 Question Id : 557625129 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.

Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes

Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id: 55762555
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 0



English Typing Test

Section Id : 55762559

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 55762559
Question Shuffling Allowed : No

Question Number : 77 Question Id : 557625130 Question Type: TYPING TEST Display Question Number : Yes

Bitcoin is the first global, decentralized currency that allows you to Send money from one person to another
without involving a third party broker, such as a bank. You only need your cormputer to make transactions
because Bitcoin is fundamentally software. 45 a decentralized currency, Eitcoin is not controlled by anyone.
You might think that the lack of control could mean chaos, but that is not true at all. That is because block
chain, the technology behind Bitcoin is one of the most accurate and secure systerns ever created. & blockchain
is a ledger that keeps records of digital transactions. Instead of having a central administrator, like a banlk or
the government, block chain organizes data in batches called blocks. These data batches use cryptographic
validation to link thernselves together. In other words, each block identifies and references the previous block
by a hash value forming an unbroken chain. Elockchain solves two of the most challenging problerns of digital
transactions controlling the information and avoiding duplication. When a purchase is carried out, the ledger
records it and sends it cut to the entire network. Computers all over the world then compete to confirm the
operation by solving complex math equations. The first to figure out the answer and validate the block
receives a reward i Bitcoins, this process 15 called rmining. The walidated block: 15 tirne stamped and added toa
chain in chronological order. The entire chain 15 continually updated so that it 15 always an accurate
representation of who owns what at any given time. The legality of Eitcoin depends on where you are located.
Eitcoin was legalized as a formal method of payment in Japan this yvear, and India might be next. In most
countries, howesyer, it somewhat operates in a gray zone, with no official ban or approval of Bitcoin. The
founder of Eitcoin is Satoshi Nakamoto, an anonymous online alias for a forum poster. The founder rermains
unknowrl, and no one truly knows who the actual founder is. At the morment, Bitcoin is owrled by the
cornrmunity as a whole, as it 15 an open source initiative, with no single owrer behind it [t is a cormmunity
movernent. Bitcoins are cormpletely wirtual coins designed to be self-contained for their value, with no need for
Panks to move and store the money. Once you owrl Ditcoins, they behave like physical gold Coins, they possess
value and trade just as if they were nuggets of gold in your pocket. You Can use your bitcoins to purchase
goods and services online, or you Can tuclk them away and hope that their value increases over the years.
Although the Reserve Bank of India (REI) advises caution on its use, bitcoin is not illegal in India.
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